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Exponential Expressions

Simplify.  Your answer should contain only positive exponents.
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Exponential Equations

Rewrite each equation in logarithmic form.
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Solve each equation.
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Logarithmic Expressions & Equations

Use a calculator to approximate each to the nearest thousandth.
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Evaluate each expression without a calculator. (You must show your work for full credit.)
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Rewrite each equation in exponential form.
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Solve each equation. Round to the nearest thousandth if necessary.
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Complex Logarithmic Equations

Rewrite using properties of logarithms. Do NOT solve.
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Solve each equation.
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Graphing Exponential & Logarithmic Functions

Sketch the graph of each function, and then find the domain/range, y-intercept, roots, and inverse.
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